Computer Graphics
UNIT-II
Polygon and 2D transformation	 
(Objective Type Question)
Q.1.polygon is a continuous , piecewise , linear 
a. closed planner curved 
b. open curved
c. closed curved
d. none of this
Q.2.simple polygon is 
a. self intersecting
b. non self intersecting
c. both a & b 
d. none of this
Q.3. polygon is enclosed area at least 
a. 2 vertices
b. 3vertices
c. one vertices
d. none of this
Q.4.type of polygon are
a. convex
b. cocave
c. complex
d. none of this
Q.5. chain connected by line segment called
a. polylines
b. polygon 
c. simple line
d. none of this
Q.6. closed polylines are called
a. ellipse
b. circle
c. polygon
d. none of this
Q.7.  triangle polygon has
a. 2 side
b. 3 side
c. 4 side
d. none of this



Q.8. The types of computer animation are 
a. 2D computer animation
b. 3D computer animation
c. Both a & b
d. None of these
Q.9. The depth sorting method reforms surfaces sorting in________ order of depth 
a. Increasing
b. Decreasing
c. Both a & b
d. None of these
Q.10. A quad-tree is a data structure which is used for graphical representation of 
a. 2D digital picture or object
b. 3D picture or object
c. Both a & b
d. None of these
Q.11. A process with the help of which images or picture can be produced in a more realistic way is called 
a. Fractals
b. Quad-tree
c. Rendering
d. None of these
Q.12.  For which purpose ,one needs to apply natural light effects to visible surface 
a. Fractals
b. Quad-tree
c. Rendering
d. None of these
Q.13.flood fill is also called as 
a. seed fill
b. polygon clipping
c. scan line fill
d. none of this
Q.14. if there are an odd number of intersection then the point in question is inside otherwise outside called
a. odd-even method
b. even-odd method
c. intersection method
d. all of the above
Q.15. The frame buffer is one of the most 
a. Versatile display device
b. volatile display device
c. non-volatile display device
d. none of this
Q.16. The following display devices is used in computer graphics
a. CRT
b. Color CRT monitor
c. Flat panel display
d. all of the above
Q.17. locate and retrieve the data from memory is a working of
a. fetching
b. decoding
c. executing
d. sorting
Q.18.flood fill algorithm is also called as 
a. seed fill algorithm
b. boundary fill algorithm
c. both a & b
d. none of this
Q.19.the algorithm that filled interior define regions are called
a. flood fill
b. boundary fill 
c. all of above 
d. none of this
Q.20. the algorithm that filled boundary define region called
a. flood fill
b. boundary fill 
c. all of above 
d. none of this
Q.21. Use of computer to define, store, manipulate, interrogate and present pictorial output
a. computer graphics
b. computer presentation
c. computer display system
d . none of this
Q.22.scan line algorithm is used for filling 
a. circle
b. polygon
c. ellipse
d. none of this
Q.23.which algorithm solve the problem of hidden surface while generating the display scan line
a. flood fill algorithm
b. boundary fill algorithm
c. scan line algorithm
d. none of this
Q.24. scan line algorithm is
a. recursive algorithm
b. none recursive algorithm
c. both a & b
d. none of this
Q.25.The dynamic effect of an image is called 
a. Video
b. Animation
c. Super sampling
d. None of these

Q.26.Which type of quad tree can be defined as an adaptation of a binary tree represented two dimensional point data 
a. Point quad tree
b. Edge quad tree
c. Curves quad tree
d. Areas quad tree
Q.27. Determine the overlap intervals for scan lines that cross the area 
a. scan line filled algorithm
b. flood filled algorithm
c. boundary filled algorithm
d. none of this
Q.28. simple objects, polygons, circles are filled by
a. scan line filled algorithm
b. flood filled algorithm
c. boundary filled algorithm
d. none of this
Q.29.complex object interactive fill by
a. scan line
b. fill method
c. both a & b 
d. none of this
Q.30.rasterization determines which pixel is inside the
a. polygon 
b. ellipse
c. circle
d. none of this
Q.31.the file is used to stored command necessary for drawing line segment is called
a. display system 
b. display file
c. file structure
d. none of this
Q.32.the dot pattern of all character are stored in hardware device is called
a. character generator chip 
b. character counting chip
c. character display chip
d. none of this
Q.33. Change coordinate frames (world, window, viewport, device, etc).
a. 2D
b. 3D
c. Simple transformation
d. none of this
Q. 34. Use deformation to create new shapes.
a. 2D
b. 3D
c. Simple transformation
d. none of this

Q.35. Preserves distance and angles.
a. rigid body
b. conformal
c. affine
d. none of this
Q.36. preserves only angle
a. rigid body
b. conformal
c. affine
d. none of this
Q.37. Preserves parallelism. Lines remain lines
a. rigid body
b. conformal
c. affine
d. none of this
Q.38.the algorithm that filled interior define regions are called
a. flood fill
b. boundary fill 
c. all of above 
d. none of this
Q.39. the algorithm that filled boundary define region called
a. flood fill
b. boundary fill 
c. all of above 
d. none of this
Q.40. Use of computer to define, store, manipulate, interrogate and present pictorial output
a. computer graphics
b. computer presentation
c. computer display system
d . none of this
Q.41.scan line algorithm is used for filling 
a. circle
b. polygon
c. ellipse
d. none of this
Q.42.which algorithm solve the problem of hidden surface while generating the display scan line
a. flood fill algorithm
b. boundary fill algorithm
c. scan line algorithm
d. none of this
Q.43. scan line algorithm is
a. recursive algorithm
b. none recursive algorithm
c. both a & b
d. none of this



Q.44. Given a 2D object, transformation is to change the object’s position is 
a. translation 
b. scaling
c. rotation
d. shear
Q.45. Given a 2D object, transformation is to change the object’s size is 
a. translation 
b. scaling
c. rotation
d. shear
Q.46. Given a 2D object, transformation is to change the object’s orientation is 
a. translation 
b. scaling
c. rotation
d. shear
Q.47. Given a 2D object, transformation is to change the object’s shape is 
a. translation 
b. scaling
c. rotation
d. shear
Q.48. The product of an arbitrary sequence of rotation, translations, and scalematrices will cause an 
a. rigid body
b. conformal
c. affine
d. none of this
Q.49. Reflection is a transformation that produces a 
a. simple image of an object
b. mirror image of an object
c. as it is image of an object
d. none of this
Q.50.reflection transformation obtained the how many degree angle about the reflection axis
a. 600
b. 900
c. 1800
d. none of this
Q.51.which is a transformation that distorts the shape of an object such that the transformed shape appears as if the object were composed of internal layers that had been caused to slide over each other
a. translation 
b. scaling
c. rotation
d. shear
Q.52.kind of picture is
a. realistic 
b. symbolic
c. both a& b
d. none of this
Q.53. type of object are
a. 2D
b. 3D
c. both a & b
d. none of this
Q.54. type of interaction are
a. controllable
b. non controllable
c. both a & b
d. none of this
Q.55. if there are an odd number of intersection then the point in question is inside otherwise outside called
a. odd-even method
b. even-odd method
c. intersection method
d. all of the above
Q.56. The frame buffer is one of the most 
a. Versatile display device
b. volatile display device
c. non-volatile display device
d. none of this
Q.57 Usages of rasterization in practice
a. 2D-raster graphics
b.3D-raster graphics
c. 3D volume modeling and rendering
d. all of the above
Q.58. Edge along a scanline in shadow test:
a. draw the upper edge
b. skip the bottom edge
c. both a & b
d. none of this
Q.59. the odd-even parity rule to determine that a point is inside a polygon
a. incremental algorithm
b. decremental algorithm 
c. both a & b
d. none of this
Q.60.incremental algorithm is also known as 
a. flood fill algorithm
b. seed fill algorithm
c. scan-line algorithm
d. none of this
Q.61.Find the intersections of the scan line with all edges of the polygon Sort the intersections by increasing x coordinate Fill in all pixels between pairs of intersections that lie interior to the polygon  this is the
a. flood fill algorithm
b. seed fill algorithm
c. scan-line algorithm
d. none of this


Q.62. for all transformation of object define as the set of
a. points
b. line
c. structure
d. none of this
Q.63. which is the following is the translation matrix
a. P’=T(tx,ty)P
b. P’=T(ty,tx)P
c. P=T(tx,ty)P’
d. none of this
Q.64. rotation matrix is
a. P’=R’(Θ)P 
b. P’=R(Θ)P’
c. P’=R(Θ)P
d. none of this
Q.65. scaling matrix is
a. P=S(Sx,Sy)P’
b. P’=S(Sx,Sy)P
c. P’=S(Sx,Sy)S
d. none of these
Q.66.rasterization determines which pixel is inside the
a. polygon 
b. ellipse
c. circle
d. none of this
Q.67.the file is used to stored command necessary for drawing line segment is called
a. display system 
b. display file
c. file structure
d. none of this
Q.68.the dot pattern of all character are stored in hardware device is called
a. character generator chip 
b. character counting chip
c. character display chip
d. none of this
Q.69. Change coordinate frames (world, window, viewport, device, etc).
a. 2D
b. 3D
c. Simple transformation
d. none of this
Q. 71. Use deformation to create new shapes.
a. 2D
b. 3D
c. Simple transformation
d. none of this



Q.70. Preserves distance and angles.
a. rigid body
b. conformal
c. affine
d. none of this
Q.71. preserves only angle
a. rigid body
b. conformal
c. affine
d. none of this
Q.72. Preserves parallelism. Lines remain lines
a. rigid body
b. conformal
c. affine
d. none of this
Q.73. Planar shape, defined by a sequence of three or more vertices, connected by line segment
a. polygon
b. circle
c. ellipse
d. none of this
Q.74. CFG stands for 
a. coordinate free geometry
b. coordinate filled geometry
c. coordinate free graphics
d. none of these 
Q.75. for any two points selected inside the polygon, the line segment between them is completely contained within the polygon.
a. convex
b. concave
c. both a & b
d. none of these
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